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With whose permission did the
- English set up their first factory in
Surat?
(A) Akbar
(B) Jahangir
.(&) Shahjahan
\/’(/D) Aurangzeb

Which among the following
countries has the world's largest
reserves of Uranium? '

(A) Australia '

(B) Canada

(C) Russia

(D) USA

Which one of the following rivers

. originate in India?

(A) Brahmaputra
(B). Indus

- (C) Chenab

(D) Sutlej

Which one am‘oAng the'following'has
_the highest energy? '

* (A) Green light

- (B) Red Light
(C) Bluelight
@/Yéllow light

.- Under the constitution of India,

which one of the following is not a -
fundamental duty?
(A) To vote in public elections
(B) To develop the scientific

~__temper ’

C) To safeguard public property
(D) To abide by the constitution
and respect its ideals
P.T.O.
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All revenues received by the Union
Government by way -of taxes and
other receipts for the conduct of
Government business are credited
to the -

(A) Contingency fund of India

(B) Public Account

(C) Consolidated fund of India
(D) Deposits and Advance Fund

Which of the following add carbon
dioxide to the carbon cycle on the
planet Earth? '

1. Volcanic action

2. Respiration

3. Photosynthesis

4. Decay of organic matter
Select the correct answer using the
code given below -
(A)- 1 and 3 only

(B) 2 and 3 only .
(C) 1,2and 4only -
(D) 1,2,3and4

Which of the following statement/s
is/are true about 95th Oscar

Awards-2023-
1. Best P‘icture - RRR
. Be‘st‘Documentary Short Film- -
" The Elephant Whisperers |
3. Best Actress - Michelle Yeoh
(A) 1and 2
\/(B) 2 and 3
(C) 1and3
(D) only 2
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(D) Article 213

D

World Press Freedom Day is
celebrated on-
(A) '3 May
~ (B) 3 June
(C) 5 May
(D) 5 December
WhicH of the following statements
are true about sports-
1. Argentina was the winner of
- FIFA World Cup-2022. _
2. India ranked third in medal tally
in Commonwealth Games 2022.
. 3. Australia was the winner of ICC
T-20 Women's World Cup-2023.
(A) 1and 3.
(B) 2 and 3
'(C) 1and 2
(D) All of the above
Which one of the following is the
oldest mountain range in India?
(A) Satpura |
"(B) Vindhya.nchal
(€Y Aravali
(D) Garo and Khasi
Which of the following-Articles of

the Indian Constitution empowers °
the. Governor to issue the
ordinance?

(A) Article 210

(B) Article 211

(C) Article 212

'P.T.O.
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No-confidence motion, to be
admitted in the Lok Sabha, needs
the support of how many MPs?
(A) 80

(B) 240

(C) 273 -
(D) 50

Central Vigilance Commission was A

set up on the recommendation of-

(A) Vf-‘irst Administrative Reform
Commission

(B) Gorwala Report

(C) Kriplani Committee

(D) Santhanam Committee

Both the District and Sessions
Judge works directly under the
control of- T

(A) District Collector _

(B) Governor of the state

(C) High Court of the state

(D) Law minister of the state

The fundamental
Panchayati Raj system is tq ensure
which among the foII,owing.‘

1. People's participation

in
development .
2. Politicalacco’untability
3. Democratic decentralization
- 4. Financijal mobilization
Select the correct answer using the

code given below-
(A) 1,2and 3 only .

.(B) 2and 4 only
~(C) 1and 3 only

(D) 1,2, 3 and 4

object of -
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‘Which one of the following is used

in preparing a natural mosquito
repellent?

(A) Elephant grass

(B) Nut grass:

. (C)” Lemongrass

(D) Dub grass |

Whi¢ch mineral -is maihly found in
Jhiroli (Bageshwer) and Chandak

- '(Pithoragarh)?
.(A) Magnesite

(B) ‘Graphite
(C) Dolomite
(D) Gypsum

Which Mughal prince took asylum
at Srinagar (Garhwal) in 1658 A.D.?

(A) Nazawat Khan

(B) Sulaiman Shikoh
(C) Dara Shikoh

| (D) Mirza Mughal

Bhimbetaka is famous for -

(A) Pre-historic paintings

'(B) Stupas

(C) Sculptures
(D) Temples

P.T.O.
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21. Which of the following promotes

national integration and provides
Support to local handicrafts and
cultural pursuits?
(A) Sports
(B) Services

\/(G/) National Heritage

D) ' Tourism

22. In which session the goal of India's

Complete independence was

announced by the Congress?
"(A) Calcutta Session, 1928
g ._(B) Lahore Session, 1929
v(C) Allahabad Session, 1930
(D) None of these

23. InIndia, how many states share the

coastline?

(A) 10
(B) 9
(C) 8
(D) 6

' 24. Which of the following is not g

natural ‘Polymer? ‘
(A) Cellulose
(B) Plastic

(C) Silk

(D) Rubber




| D
25, AL ¥ B O oH I T 25. Which of the following converts high

level language into machine

T 1 TR e+ e &7 | .

: anguage in Computer?
(A) THRCR (A) Assembler
(B) ST/ (B) Interpreter
(C) TR ~(C) Compiler

(D) None of these

(D) & | DI el

' 26. Who appoints the Chairman of the
26, T3 i YT SN 3 S1eTE B g PP

State Public Service Commission?

R R @ SRH € o
Y ' | (A) The Chief Minister of the State
(A) T & GEIHAl | o :
_ . (B) The President of India
(B) R DI i : ' \ (C) The Governer of the State
(L7 s & g bl (D) The Chairman of the Union
- (D) Y e W AT B e | Public Service Commission

>7. TSN YRd & e TR A& d- | 27. Which is the longest river - in

ﬁ%‘? : : - Peninsular India-
A) goT (A) Krishna

(B) WEME < | (B) ‘Mahanadi
(C) Ha ’ | ’ (C) Narmada |

(D) R L ' (D) Godavari

28. T=fiRed I 3 o 91 v URag Rad 28. Which one of the following is not
db @1 BT T8l & ? . ~ the work of Reserve Bank of India?
(A) TR BT R | (A) Regulation of currency
: (B) Regulati i
(B) R =R a7 f ) Regulation of foreign trade
: (C) Regulation of credit
(C) g & | | ) .
_ _{P)" Custody of foreign exchange
(D) &1t faadh fafra m@rw&lﬁr funds of the country

DU23 [9] p.T.O.
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29. Human Development Report is
published by which of the following
organization?
'.A(A) U.N.D.P.
(B) UNESCO
(C) World Bank
| (D) 1.M.F.

The main compbnent of L.P.G. is-
- (A) Hydrogen
\,(B’)) Methane

(C) Butane

(D) Carbon-di-Oxide

'31. Thelargest part of our Hydrosphere

is-

\;K(A‘)/'PaCiﬁc Ocean
(B) Indian Ocean
(C) Atlantic Ocean
(D) Antarctic Ocean

. 32. Who was the founder of 'Servants

of India Society'?

(A) Sarojini Naidu
-(B) Jawahar Lal Nehru
(C) Mahatma Gandhi
.(D) Gopal Krishna Gokhale

33. The most famous centre of
education in Maurya period was —
(A) Takshashila
_\B) Nalanda
(C) Ujjain
(D) Lucknow
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34. The largest Glacier of Uttarakhand

35.

- 36.

is-

(A) Milam

(B) Pindari
(C) Gangotri
(D) Ponting

Which of the following statements
are correct about G-20 summit-

1. G-20 was founded in 2003.

2. G-20 is an intergoverhment
forum comprising 19 countries
and the European Union.

' 3. The G-20 Leaders Summit at

‘the level of Heads of state/
- Government is scheduled to
be held on 09 and 10
September 2023 in New Delhi.
1 and 2
2 and 3
1and 3
1,2 and 3

(A)
(B)
(©)
(D)

Which of the following is not correct

~ with reference to 'Jageshwar group

of temples'?

(A) It is the largest group of

temples in the state.

It is located in Almora district

of Uttarakhand. -

(C) The main contribution in the
construction of these temple
groups built in 8th to 10th
century was of Pal Kings.

(D) The oldest temple of this

- temple group is Mrityunjaya

temple. |

(B)

P.T.O.
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38.
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40.
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The most urbanized district in
Uttarakhand is-

\(A) Dehradun

(B) Haridwar :
(C) Udham Singh Nagar
(D) Nainital

In eye donation, which one of the

following parts of doner's eye is
utilized?

(A) Iris

(B) Retina

(© Cofnea

(D) Lens

Which one of the following
dynasties was ruling over North

India at the time of Alexanders
mvasnon'? _

(A) Nanda
(B) Kanva
(C) Sunga

(D) Maurya

The Indian National Army (I.N.A)
came into existence in"1943 in-
(A) Japan

(B) Burma |

(C) Singapore

(D) Germany

Where is 'GoI‘Gumbad'-situated?
(A) Hyderabad

(B) Agra

(C) Sasaram

(D) Bijapur
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42. Which one of the following is the

most fertile soil?

(A) Laterite soil

(B) Sandy loam soil
~(C) Alluvial soil

(D) Red soil

43. Which of the following absorbs
Ultraviolet rays coming from Sun?
(A) Carbon-di-oxide
(B) Water valpour
\(C)” Ozone layer
(D) Oxygen gas

44, Which of the following is not an

Operating System?
(A) Unix |
(B) Linux

(C) Java

(D) Windows-11

45, Dyarchy was implemented in the
provinces under which Act?
(A) Indian Councils Act 1909
 (B) Government of India Act 1919
(C) Government of India ACL 1935
(D) None of these

46. Mahatma Gandhi was referred to
as the 'Father of the Nation' first
by~
(A) Jawahar Lal Nehru
(B) Vallabhbhai Patel
(C) C. Rajagopalachari

(D) Subhash Chandra Bos€
P.T.O.
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49.

50.

D]
What is the correct chronological
sequence of the following ?

1. Wood's Education Dispatch
2. Macaulay's minute
"~ education

. 3. The Sargent Education Report

4. Indian Education (Hunter
Commission)

Select the correct answer using the

code given below-

Which one of the foIloWing has the
highest fuel value?

(A)
(B)

Hydrogen
Charcoal
Natural gas

(D) Gasoline

The President of Indian National
Congress at the time of partition
of India was-

(A) C. Rajagopalachari

(B) 1.B. Kripalani '

(C)' Jawahar Lal Nehru

(D) Maulana Abul Kalam Azad

Who among the following laid the
foundation of Rashtrakuta Empire?‘
(A) Dhruva

(B) Amoghavarsha I

(C) Krishna-I

(D) Dantidurga

on
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52. 'deep' aaﬁgﬁqé‘rwﬁﬁ?
(A) 1
(B) 2
(C) 4 | LT
(D) 6 - w

53. 'Iooks'ﬁaﬂgaﬁq'@fmm?
(A) 4 RTINS
(B) 6
(C) 8
(D) 9
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51. Pointing out to a lady, Rajan said,

52.

"She is the daughter of the woman
who is the mother of the husband
of my mother". Who is the lady to,
- Rajan?
(A)  Aunt
(B) Grand daughter
(C) Daughter |
(D) Sister

' D|rect|on (Q. No. 52 to 53) : Read

the following information to answer
these questions-

In a certain code language, '481"
means 'sky is blue', '246' means
'sea is deep' and '698' means 'sea
looks blue'. |

What number is the code for
'deep'?
(A 1

UB) 2

53.

(C) 4
(D) 6

Wﬁat number is the code for
'looks'? |

(A) 4

(B) 6

ey 8

(D) 9

P.T.O.
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(B) &
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54. You are walking straight, then yq
turned left. If the setting sun is op
your left at this time, then in which
direction were you walking initially-

_A) towards east
(B) towards west
'(C) towards north
(D) towards south

55. The National Day of a cbuntry X" is
celebrated on the fourth Saturday
of a mdnth starting on Tuesday. On
yvhich date the Natidnal Day will be-

“(A) 24
(B) 25 .
A&y 26
(D) 27

56. How many 3's aré there in the

following number series which are

notimmediately precedeq by 6 and

not immediately followed by 9
9366395937891639639
(A) one
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59.

waﬂ@ﬁgﬁm%fﬁ%mﬁﬁ%
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ST qEaT e 3 A @ e
oV I &l B -

(A) 9:40

(B) 9:45

(C) 10:00

(D) 10:15
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(A) 9
(C) 18 '
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Hifsre-

D

57. A bus leaves for'Delhi in every 55

minutes from a bus stand. An
inquiry clerk told a passenger that
a bus had left 20 minutes earlier
and the next bus would leave at
10:35. At what time the inquiry

" clerk has informed the passenger -

(A) 9:40
(B) 9:{}5

€)Y 10:00

(D) 10:15

58. Study the given diagram carefully

59.

and tell how many students do not

play any game-

Total 40 students

. '
(A) 9 (B) 15 7\
C) 18 -

(C) | \_SfD) 7

Count the number of cubes in the

.- following figure -

S8

(B) 66 (C)68 (D)70
P.T.O.

(A) 64 (B)66 (C)68 (D)70

DU23 [17]
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60.. When the following figure is folded

FracaRaa st 20

60. IS UTFH U9 9197 &6 ™e It . to form a cube, how many dote
& His f&ar Srer 8, 99 diw Stesy arel would lie opposite the face bearing
TAE & T SHBay Sies e five dots?

=] | | =
'

A 1 (B) 2 (c) 3 (D) 4

K
son|9 oo
'

veefo ofl o

o]0 00

22

A1 (B) 2 (&3 (D) a4

61. &I AT NHler W Bragst a5 <wsaT = ~»61. Find the number of triangles in the
) , !

_ . : g - ’givenfigf:re—
> | <

(A) 16 (B) 22 (C) 28 (D) 32 (A) 16 (BY 22 (C) 28 (D) 32

62. Frfer: T ¥ P, X, ¥ 31k Zz ues dux - 62. Direction : In this question P, X, Y

- E_ ‘ : and Z are showing a sequence of

B THS BT HIes A BT 3TIehH Taamen . folding of a piece of paper Figure Z

Tl ATHT z = & & v g shows the manner in which the
WHIes YU B BIeT AT R 3MTIDT T

) folded paper has been cut. You have
_ to choose a figur i uld
- RN = = g € which wo

Most closely resemble the unfolded
S —w— ST | form of figure z.




63. frder: 5 we &, 3ue! 3 qofwTeT
¥ 3Rt sk Gl &1 gaer &
e ¥ 3 frwe @ g o R e
v 3 7 Wi st e e
U4P15B7
(A) NpbT2B)
(B) N<dl2BY
(C) N<bT2BD

(D) N¥bT28)

64, firser - Freioiad v ¥, RE MU AR

fRywedt o I aMPT (X) B Hel Ul

yfafew & Tod difse-

@

>

(A)

65, Frafefied g ) fooR aRe :

(B)

(C)

-~ (D)

Rt o <1 s it F WA T R
fomm & 78 s @1 U o & fow
amazas fafig <o & =gHaH e

a1 87

(A) 3 (B) 4 (C) 5

DU23

(D) 6

[19]

D

63. Direction : In this quesﬁon, you are

given a combination of english
alphabets and numbers. Choose
the alternative which most closely
resembles the water-image of the
given combination—

U4P15B7
(A) NybT2B)
(B) N<dI2BY

-~ (C) NtbT2BA
N7
- (D) N<{bT293

64. Direction : In the following question,

choose the correct mirror-image of
the Figure (X) from amongst the
four given alternatives-

(A) - (B) (© (D)

\r

65. Consider the fo"owing diagram :

What is the minimum number of
different colours required to paint.
the figure given such that no two
adjacent regions have the same
colour?

# \‘
B3 B4 (005 (D 6

P.T.O.



fAler (W91 <= 66 | 67 Ad) : INHI (i)

66.

67.

68.

Al

3R (ii) v Frdhy ok & waftra | Re
fomeal ¥ I s SPiT ABR 3BT
(iii) 31R (iv) & & TaE daer wftd
B, 31 3Bl (iv) H e ferg o1 R

&

(ii)

AN

S——

(iii)

?

N
(1)

(iv)

D

4

-(C)

A

(B)

=y

(D)

&
N

2

() (i) i) (iv)

=K% £

(A) (B) (©) (D) |

& 1y AR st 3 A A v iR
9% I TAF & Feife, U P
21 9 B 7—E ST 21 a8 IPiT I
3T 3 ¥ 3T 8 - |

A

(A)

;

(B) (C) (D)

pu23

[20]

D]

Direction : (Q-No. 66 to 67) : Figure

66.

67.

- 68.

(i) and (ii) are related in a particular
manner. Establish the same
relationship between figures (iii) and
(iv) by choosing a figure from
amongst the given alternatives,
which would replace the questions

mark in figure (iv).

N[ |?
M@ @ )
IR
(A) ‘93‘) (C) (D)
N (A |2

(i) (i) (i) (iv)
| El &
(A) (B)- (C) (D)

Out of the four figures, three aré
similar in a certain manner.
However, one figure is not like the
other three. Choose the figuré
which is different from the rest -

A Z

(A (B (© ©®



69. ) e U @ &) Refrdt & T8

70.

g 5 % R ag W adn gr?
(i) (ii)
(A) 1
(B) 2
(C) 3
(D) 6 ' |
ﬁésr(mﬁmménaas):ﬁﬁsrs:ﬁﬁ, |
. fv v OR Rt § ¥ 39 3P &
T BRE Ry smdha (X) @ @l
SE (7) § W T R T8 def ol
=
?
(X) .

71.

A (A

(A)  (®  (© (D)

(X)

(A) (B) (C) (D)

DU23

[21]

69. Two positions of a dice are shown

70.

71.

D

below. What will come opposite to

- face containing 57

> >
s G
(i) (i)

(A) 1

(B) 2

(O3
o’

(D) 6

Direction (Q-No. 70 to 71): In
following questions, select a figure
from amongst the four alternatives
which when placed in the blank.
space (?) of figure (X), would
complete the pattern -

xX)

“(A) (B (O (D)
7
(X)

A B () AP
P.T.O.



72. A SR Rad BT e

A &
(a) (b) () (d)
(A) chda (B) cbad
(C) adcb - (D) acdb:
HaeT (79 =1 73 QA 75 9) : U O T,
STt 1 Y= 8 WEMIex &, o fausia

ARl B S TR el ell 3R Bret 3
e o 21 TR 5% 7 2 A g
%W@ﬁﬁmmﬁ |

3. Ry T B o1 e O I A
(A) 0 (B) 4 (C) 8 (D) 12

24, Feoe Ot A Spaet a1 W A e
(A) 8 (B) 16 (C) 20 (D) 24

25 Fpary T A I e €2
(A) 16 (B) 4 (O 6 (D) 8

puU23

[22]

[D]

72. The logical sequence of changes in
figures given below is - |

21212
- (a) (b) (c) (d)
_(A) cbda (B) cbad
(C) adcb (D) acdb

Direction (Q. No. 73 to 75) : A
- solid cube-of each side 8 cm, has

been painted red, blue and black on

pairs of opposite faces. It is then

cut into cubical blocks of each side
- 2cm. '

' 73. How many cubes have no face

painted?

JA)Y 0 (B) 4 (C) 8 (D) 12
74. How many cubes have only two

faces painted?

(A) 8 (B) 16 (C) 20 (D) 24

75. How many cubes have three faces

painted?

_B)Y16 (B) 4 (©) 6 (D) 8

-



foyer (e = 76 ) 77 G) ¢ W 3P

v et & wived v €1 sma sifore

i whea g@el @ g | B @
IR DT a7l &
76. W 3P :
Ao
N
-mm@%ﬁr:
SRR =<
(A) (B) () (D)
77. WA ANPRI : |
<) ,
E/A
3R SPIrAT | '
el (A | R
& R
(A) (B) (C) (D)
a1 (sroe1 < 78 R 79 ) ¢ & TR
< 3 RN A BT 1 IR St
Fdghe-
78. g 3 :
sraME
a\Plirall

[23]

76.

D

Direction : (Q. No. 76 to 77) In
question figure there are the
broken parts of a pattern. Find out
which of the answer figure is
formed after joining the broken
pieces-—

Question figure :

VAR .
N

Answer figures :

@/ 0|9 |=
(A) (B) - . (€) (D)
- 77. Question figure :
o~ <2
- &
A
‘ Answer fig_ures .
AL 628 | K
5 0|
(& (B) (C). . (D)

Direction : (Q. No. 78 to 79): Choose
the missing figure of the series given
below from the answer figures -

78. Question figures :
dlvaliplik
Answer figures :
A (® (© (O
P.T.O.



o

Notesbg.Com

79. W 3HicT :

SENAIEH

IR MHHrar :
NN IRV

(A) (B) (C) (D)

f¥a=T (e =11 80 9 81 @) : fr=foiRag

T A (o T et & 2 b ey

ﬁmmﬁg(?)aﬁuﬁwm_

et - |
80. BEGK : ADFJ :: PSVY :2

(A) ROUX (B) ORUX

(C) LQuTt (D) LOQT

81. K/T :11/20::3/R:?

(A) 10/18
(C) 10/19

(B) 11/19
(D) 11/18
ﬁéﬂ(mﬁwamaaa&s):%ﬁﬁw

et TR R (7) % o g
B A T 3y -

82.(3) () '
@ Y
- (A) 75
(C) 25

(B) 26
(D) 20

DU23

- Direction (Q. No. 82 to 83) :

79. Question figures : |

gyﬁ'ﬂ_

Answer figures :

NI

B (© (D)

Direction (Q. No. 80 to 81) : In the

following questions, select the
_correct option from the given

alternatiyes which replace question
mark (?).

80. BEGK : ADFJ :: PSVY : ?

\B) ORUX
(D) LOQT

(A) ROUX
-(C) LQut
81. K/T:11/20 :: IR : 2

(A 10/18
(C) 10/19

(B) 11/19
(D) 11718

Which
number will replace the question

mark(?) in Pattern given below-

2.9 o0



girib
Stamp



P

Noteshg.Com D
83. 83.

3[15 7l (3115 |4

70385 713815

3] 2|5 3] 2|5

(A) 15 (A) 15

(B) 18 . (B) 18

(C) 19 (C) 19

(D) 20 . (D) 20

foden (e 84 <) 86 T ) : I T birection (Q. No. 84 to 86) : Four
¥ IR ﬁag—cqﬁ-g mE e ‘ options are given in each.question.

Three of them are similar in some

%ﬁqﬁqﬁmﬁwg’ L way.‘and one is odd. Find the odd
ﬁmﬂgﬁu =i 3 i 1 fiw e @1 | b

84. (A) W 84. (A) Rigveda

| (B) dFda ik . ~(B). Yajurveda

(O 312]2%3 | o N | _ (C) Atharvaveda
(D) 3Mgde _(BY" Ayurveda

85. (A) SR 85. (A) Geometry
(B) domfoTd ' (B) Algebra
(c) Prpwifafd | ' (©) Trigonometry
(D) o - _ (D) Mathematics

86, (A) @R | | 86. (A) Plassey
(B) EeMHCI » (B) Haldighati
(C) U (C) Panipat
(D) W \}D)/Sarnath
[25] ' P.T.O.

DuU23
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87. 39 UNY &I IIF DI 3 v SRR 87. Choose the dice that can be made
Y & &) e A (%) @Y AigaR q= by folding the given diagram (X) of
3 a unfolded dice - .
STADBATE - |4 p) =15
= 1
3. |
3 3
5|6 e |
(X) - R .' X)
(A) () (© (D) (A (®  (© (D)

88. US URYS UL 395 HIWHA GZNI& |  88. The right time shown by a clock is
&1 v o ¥ & 135° T & dTa &l 3 O'clock. What will be the time if
AT A — R - the hour hand rotates to 135°-
(A) 6:30 ot ey (A) 6:30
(B) 7:30 . | By 7:30
(C) 8:00 o { - (C) 8:00
(D) 9:00 S - - ) 9:00

89. U fqarii o1 vs Wer A g yea e | 89. Imanexamination, a student scores
& 4 TreR fher & T e e R R 4 marks for every correct answer
1 R e R e &1 af Ry | @nd loses 1 mark for every wrong
5 75 e Ry 3K 3 125 R ey answer. If he attempts all 75

. . ' ~ questions and secures 125 marks,
GIECRIFY fpa T wRI g | ~
;E? G : ‘ then how many questions he
' attempts correctly?
(A) 35 ‘ (A} 35
(8 40 . (B) 40
(C) 45 - Q) 45
(D) 50 (D) 50

puU23 , [26]




90. 21 wisfadl @ ve Ufth o 1@ AT 4

et - (e ST 91 R 93 D) - . et

91.

92,

= aTs 3R Rawa), Ay qg e "R«
128} &1 7| uRp ¥ T RR & I/D
ugen fRerfa g e

(A) 10ai

(B) 11di

(Cc) 13ai

(D) 14di

?iaqTaﬂ'$HFT€?tﬁaEEFHTﬁﬁEIHZQE:ﬁ
HIWaE -
uasﬁﬂﬁiﬁw¥$@uni:gﬂyazﬁ%ﬁuﬁstﬂ%ﬁi#
So ¥ qun weh @ 9@ TR fKan @
2k ¥ 35 URe & a0 BR A e
éﬁﬁT%liEFWaﬁﬂ?ﬂtﬂaiéﬁﬁﬁTﬁﬂﬁﬁ
o £1 g, BT 3 e & dodl &

Forer e o @ Ao B A ASE AT

& =it 9w 7 T & g dod &
Reyer ToF & ATt el doar &l

5 et ey 3 & e s Sedt
&7

(A) 8

(B) 5

(C) 4

(D) 1

o 3 er gei oY aaT ¥ B7
(A) IR~ Qe
(B) &8 & AT

(C) @0 I T
(D) @rd T

DuU23

[27] -

90.

Direction :
~ the following information carefully

91.

92,

- (©)
. (D)

(D]

In a queue of 21 girls, when Monika
shifted 4 places to right, then she
was in 12th place from left. Find
her previous position from right
side?
(A)

(B)

10th
11th
13th
14th

(Q. No. 91 to 93) Read

and answer the given questions-—

‘A certain number of persons are

seated in a row and all are facing
north. Ranjan sits fourth from the
left end of the row. There sit two
persons between Ranjan and
.Seema. Puja sits on the’ immediate

right of Seema. ‘There sit as many |
persons between PUJa and Seema
as between Dinesh and Puja. Dinesh
does not sit on the left of Ranjan.

How many persons sit between
Ranjan and Dinesh?

(A) 3

(B) 5

\,027’4

(D) 1

What is the position of Puja with
respect to Ranjan?

(A) Immediate right
(B) Third to the left |
(C) Second to the left

\/(’D) Fourth to th'e' right

P.T.O.




93. lep W et fasom wafep doa &

(A) 9

(B) 6

(C) 1
(D) 11

94. 'WONDERFUL' 91 & 31&RI 1 qufer

& BH A B e 5T ) ey arert

& I 3Rafda 3 -

(A) ©H

(B) @

(C) dF |

D) $H I B &t

95. B W fawed IRy Ry e vt ooy et

o1 cuifar & -

1. 3N 2. ONE® 3. /IR

4, DIANEG 5. TG

(A) 5,3,2,1, 4

(B) 3,5,1,2 4

(C) 2,4,1,5,3

(D) 1,2,3,4, 5
96, uﬁ%ﬁmﬁmwﬁmoseaﬂ
aﬁg'MQVI"l‘amm%?haﬁfﬂiéﬁas
a1 H 'GAIN' BT B8 71 2y
(A) HCMR
(B) HDLR
(C) HCLS
(D) HCLR

puU23

[28]

[D]
93. How many persons are sitting in the
row?
A(A) 9
(B) 6
(C) 10
(D) 11

94. Ifthe word 'WONDERFUL' is written
in alphabetical order, then how

many letters will not change their
place -

(A) One
\M(B)' Two
(C) Three
(D) None of these

5. Which alternative represents the

meaningful order of the words given

below-
1 Novel 2. Author 3, Award
4. Story 5. Publlcatlon

(A) 5, 3, 2, 1, 4
(B) 3,51,2 4
AC) 2,4,1,5,3
(D) 1,2,3,4,5

96. If the code worg Of 'LOSE" js 'MQUT

then what would be the code word

of 'GAIN'?
(A) HCMR
(B) HDLR
(C) HcLs
D)-HcLr

s



97. ﬁwmﬁm%ﬂ?)%m

98.

99.

R T 3TRAT —

2B, 4C, 8E, 14H, ?
(A) 20K

(B) 22L

(C) 20L

(D) 22K

P B T TeE J I PR

(D) 9

af% <t we @1 Taal & gpeaR |
& Ry wee 317 & & 3% WiE & A
= oF a1 aR 8n -

(A) fqarR

(B) IMaR

(C) gIarR

(D) THAR

100. U6 PR T, A T 3 36REd RIF IR

2 55f5 B OO 3 Hiegd VM R &l
af C g A TeEd I | @ a0
A3 B % &G agH &, @ HaAR A
fopam AT 82

(A) 45

(B) 46

(C) 47

(D) 48

DuU23

[29]

'99.

(D]
97. What will come in place of question
mark(7) in the followmg series-
2B 4C, 8E, 14H,? 17 |
(A) 20 K ‘
_AB) 22L
(C) 20L
(D) 22K

'W'rit_er‘ is related to 'Reader’ in the
same way as 'Producer’ in related

98.

to
(A) Construction -
(B) Contractor
| _(G)” Consumer
(D) Commodity

If the seventh day of the month is
~ ‘three days earlier than Friday, then
~ what day will it be on.nineteenth

day of that menth-
(AY"Sunday
~(B) Monday
~ (C) Wednesday
(D) Friday

1100.In a queue A is eughteenth from
the front while B is sixteenth from
the back. If C is twenty-fifth from
the front and is exactly in the middle
of A and B, then how many persons
are there in the queue?
(A) 45
(B) 46
ey 47
(D) 48

P-T-o'



101, 3:4 o 3FIUTA # & I3 & = @y

102

103.

104,

DuU23

T 5824 & =N &1 AT e
g7
(A) (5824)* (B) 28

(C) 24 (D) 7

. A p=999¢F, A b? +3p+ 3)+’1
&1 HH B
(A) 1000  (B) 999
(C) 998 (D) 1010
%760ﬁuasa¥§$réaém52°/om'
BT & | At 3 ARG BT < 750 F S
T, A T
(A) 25% (B) 10%
(C) 42% (D) 50%
g fev mo e ¥ ZBOC &I T
_— ,
c F
Ao Gr B
E D
(A) 101°  (B) 149°
(c)y 71° (D) 140°

101,

[D]

The sum of cubes of two numbers

~in the ratio 3: 4 is 5824. What is

102.

-103.

104.

the sum of the numbers?

(A) (5824)13 (B) 28 _

(D) 7 .0

N

(C) 24

If p=999, then the value of

Ap [p? +3p+3)+1 will be-

(A) 1000 (B) 999

(C) 998 (D) 1010

In selling an article for ¥ 760 there
is a profit of 52%. If it is sold for
X 750, then ‘find the profit

- percentage.
(A) 25% (B) 10%
(C) 42% \J(,D)‘SO%'

In the figure given below, find the

\éalue of ZBOC-

A e PGB

E D

(A) 101" \(B) 149°
S (©) 71°

(D) 140°




105.

106.

-107.

108.

DU23

& wE ampfa H £BAC=30',

ZABC=50° T £CDE=25" &

ZAED ST A 8N -

(A) 105° (B) 115°

(C) 95° (D) 75° | |
_%@rﬁwéwsaﬂm/ﬁsafhar
| 2R I aiTeT B aRIER &1 e
saaE

(A)-136  (B) 12

(C) 24 (D) 144

é‘ﬁﬂﬁaﬁaaﬂﬂémoa‘l e T,
qm”fma"rﬁrgﬁ’rw@ﬂm
é’mfrma?r?ﬁqgﬁr%l SRR

mm@amamaﬁ_

Bifetel

(A) 30 (B) 36
(C) 46 (D) 60
340 ] TS BT 37 -

(A) 1 (B). 3
(C) 7 ©).9

[31]

105.

106.

D
In the given figure, /BAC=30°,
/ABC=50° and ZCDE=25’ then

value of AAED will be— .

\,(A’)/ws
- (C) 95°

. .(B) 115°
(D) 75°

The difference between 1/3 and

 1/4 of a numberis equal to square

root of that number.' Find _the

" number.

| 107.

108.

(A) 1

(A) 136 . (8) 12
(C) 24 Py 144

Average of three numbers is 40.

‘The first number is twice the

second number and second
number is thrice the third number.
Find the difference between the
greatest and the smallest number.
(A) 30 (B) 36
(c) 46  _(Py60

L4

The unit digit of 340js-

(B) 3
D)9

(C) 7

P.T.O.



106.

‘107.

108.

DuU23

105.

Q TS anpfa W ZBAC=30°,

ZABC=50° 92T ~CDE=25° & dI

ZAED &I |19 81T -
A
m°E'
sq° L 25° D

(A) 105° (B) 115°
(C) 95° (D) 75° |
st e 35 1/3 31K 1/4 &A@ BT
7R 3D G P IR 8| HE&
qadte -
(A) 136 (B) 12
(C) 24 (D) 144

éﬁ@aﬁaﬂaﬁﬂmo‘%l or T,
Sy e o AT T | e

amm@f@r&maﬂmam

oifel

(A) 30 (B) 36
(C) 46 (D) 60
340 557 EHTE BT B3I &

(A) 1 (B) 3
) 7 (9

[31]

105. In the given figure, ZBAC=30’,

106.

107.

108.

/ABC=50° and ~/CDE=25° then
value of ZAED will be-

(x) 105°

N\~

- (B) 115°

(C) 95° (D) 75°

The difference between 1/3 and
1/4 of a number is equal to square
root of that number. Find _the

number. :
(A) 136 (B) 12
(C) 24

| (D) 144

Average of three numbers is 40.
The first number is twice the
second number and second
numbér is thrice the third number.
Find the difference between the
greatest and the smallest number.
(A) 30 (B) 36

(C) 46 .L,@)f*so

The unit digit of 3% is-

(A) 1 (B) 3
(C) 7 (D)9

P.T.O.




et (e T 109 R 111 G®) ¢ A AU

0 U H vE WER B ST B
IRER & el & R R faaxor
srfan wan &1 R @1 3reaa e
srenfRaa vl & IR AE -
-zs—l— i—?

a0

40
351 : i
30+
25
201
154

10+
5 5

5“0 2 3 4 s'E,l

IRaR # Jewit & F&T

oRaR ¥ el B siea J=A R ;
(A) 2.4 (B) 30

(C) 3.4 (D) 4

g F B9 Tl a1 IRART B
39 g1 8? |

qRarRt @ a1 (83K H)

1009.

110.

8

(A) 15

(B)
(©)

vl LW

1

(D) 5

111,
yicrerd aam 27
(A) 10%
(C) 30%

(B) 20%
(D) 40%

2. IR B w6 qa 75% @fdl o
T UER 81 9 3 s ey
ﬁmm%‘fﬁm@gq

Y S <y e
(A) 37/64.

(B
(C) 1/64 ) 3/4

(D) 27/64
DU23 /64

IR I ST Gexd] I URARY B

9uUR

[32]

pirection (Q. No. 109 to 111) : 3,
bar diagram given below shgy,
the details of population of a city
on the basis of family memberg.
study the diagram and answe;
the following questions-

45
45%— ]
40

35:r
304

251

40

<

20
151

101
S 5 ¢

[l

1 2 3 4 5 6
Number of members in family

(6]
|

No. of families (in thousand)

109. The average number of members

in a family is:
(A) 2.4 (B) 30
(C) 3.4 (D) 4

110. What is the fraction of families

having members below average’

y 3 o &
(A) 3 (B) 15
, 2 o1
€) 5 (D) ¢
111. Whatis the percentage of fam“‘ei
having more than four menbe”
(A) 10% (B) 20%
(C) 30% (D) 40%
75%
112. A fever medicine Cure®

rso"
1f three P° g

persons. .
suffering from fever used ltlrsons
orobability that all three P
will be benefited from it 1,
Ay 37/64  (8) 3

4
(C) 1/64 (o) 27/°

4




113.

114,

115.

Du23

ffeRae forr 3 x o1 9 519 HiE-

(A) 50°
(B) 65°.
(C) 75°.
(D) 60°

TR A DI oINS BT IR B DI ohvdlls
3 3 3: 4 8| TR CH oS BT -

R B B T F U 7:6
e T o) RN B oS 84 I
2, < St <Rt B et e i
Sie- |

(A) 210 cm

(B) 225 cm

(C) 185 cm

(D) 200 cm

fo=r 3 < oo 3l H 6 erp,
12 TR e 8 9 & -

(A) &

(B) TR RIS

(c) Prpwia isH

(D) B firiHe

[33]

D

113. Find the value of x in the following

114.

figure -
Z\
B TAX\S E

‘j s"i ; 30":\/
P & ! R
[ Q Q D

C

(A) 50°
(B). 65°
(C) 75°
(D) 60°

The ratio of the Iengﬁh o_f rope A
to the length of rope B is 3: 4.

The ratio of the length of rope C
to the length of rope Bis7:6. If
the length of the longest rope is
84 cm, then' find the total length

~ of the three ropes-

\_,(’A'rzlo cm

115.

(B) 225 cm
(C) 185 cm
(D) 200 cm

Which of the following figure has
6 Faces, 12 Edges and 8 Vertices-

¥

(A) Cube
(B) Square Pyramid
(C) Triangular Prism

(D) Triangular Pyramid

P.T.O.
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116. B8 a9 wana Fww F=aEi o
ANTHer 27 &, dr T2 a1 I3l &
Uit o1 AT fopa=m grm?
(A) 235
(B) 225
(C) 215
(D) 130

117. BN S=r 112 N 907 3 ) 39 60
& ST 2| afE 39 wen 1 16 ¥ v
< s, & 9w @ e
(A) 11 | -
(B) 14
(C) 12
(D) 17

118. 168 31k 315 & E%mﬁrsassm?q

(A) 0 ()7
() 3 (D) 12

119, TS e & 2 B B R vy

m%lﬁmﬁw«mw
T Hifste-

(A) 60 cm?

(B) 225 c¢me2

(C) 195 cm® (D) 450 cm2
DU23

(D]

116. The sum of any three consecutive
odd numbers is 27, then what will
be the sum of the squares of the
first two numbers?

(A) 235

(B) 225

(C) 215
(D) 130

117. A number when divided by 112
leaves a remainder of 60. If that
number is divided by 16, what will
be the remainder?

(A) 11
(B) 14
(SY 12
(D) 17

118. The sum of the common prime
factors of 168 and 315 s -
(A 10
(© 3

(B) 7

(D) 12
119. Two corners of a riapkin are folded
' as shown in figure. Find the area
of the napkin when it is unfolded-

(A) 60 cm2 (B) 225 cm?

(C) 195 cme

(D) 450 cm?
34



120, Y R T Gt B anER W
R—quasrnﬁaawz- '

(i) 113.1+8.7=P

(i) Q+9.18=15.06

(iii) 91_2.06—R=418.05

(A) 417.670 (B) 415.218

(C) 418.57 - (D) 417.57

121.
Al 39 &I BT 3R &-

(A) 78° (B) 720

(C) 54° . - (D) 126°

122. e WY &I v TS T ATt 1,

Qy-dferdt (2/5) s AT S st A
21 Mex & L1 F T AT | EH B

o1 TS &
(A) 40 m |
(C) 80 m

(B) 60 m
(D) 90 m

123. ©F W&l d F9f 89 & fore sifersaw
3§ BT 36% I BT T & v
B 7 113 37d W foe 3ik 85 3ipi
Y 3rqwe aiftd fasar manl siftrean

(A) 500 (B) 198

(C) 550 (D) 1000

DuU23

e A HRS PIVT 3:7 B IR H &,

[35]

D

120. Find the value of R-PxQ on the

121.

- between them is-

122.

123.

(A) 780

A€) 550

basis of following given facts-
() 113.1:8.7=P

(i) Q+9.18=15.06

(i) 912.06-R=418.05
(A) 417.670 (B) 415.218

(C) 418.57 (D) 417.57

If two supplementary angles are
in the ratio 3:7, then the difference

y -

‘&)/720

(C) 54 (D) 126°

One fourth of a pole is painted red,

 two-fifth (2/5) is painted blue and

\remaining 21 m is painted green.

The total height of the pole is-

(A) 40 m \(BY 60 m

(C) 80 m (D) 90 m

In an examination, one should get
36% of the méximum marks to
paés.- A student obtained 113
marks and is declared fail by 85
marks. The maximum marks are-
(A) 500 (B) 198

(D) 1000

P.T.O.
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) A

Notesbhg.Com
124, R §= g @ (%%,'1361
I &
™ o5 ®) i
© 15 © i

125. & T PR § Rk AB=BC=CD &,

@.

Xx 9
124. If ;=§ , then the value of
6 y-X).

(7+Y+X)S-
9 it
™ 15 B 19
19 109
(C) 1—15 .(D) 119

125,

In the given figure, if AB=BC=CD,

e then the perimeter of the given
E\Tﬁﬂé i %) g figure will be-
A B .C D A B .C D
«—42 cm——> <«——42 cm——>
(A) 108 cm (B) 112 cm JA)/108 cm  (B) 112 cm
(C) 124 cm (D) 116 cm (C) 124 cm (D) 116 cm’
126. @ 7% 3N | B, D, F 3R H ww: 126. In the given figure, B, D, F and H
AC, CE, EG 3R GA & He ﬁﬁ%l are the mid points of AC, CE, EG
TG T & SF%a ST IS, and GA respectively. Find the area
of AGEC T 10 ) of the _shaded portion, if AGEC is
0 aﬁ ﬁ a square of area 100 cm?.
F E
(R) 25 cm?  (B) 100/3 cmo (A) 25 cm?  (B) 100/3 cm’
C) 35
R A) 50 o (C) 35 ecm* (D) 50 cm’
St el ne - 12 6-2x
127. o (5) A(S} "(T) , 9 X 127, 1f (3) X[Z _(% then
@1 9F & | 5 5 )
(A) -1/5  (B) -5 Value of x is -
) 5 (®) 4 \igj) -1/5  (B) -5
5
DU23 [36] (D) 4

B
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128. 39 N & fobem welsp &7

.
................

. D

o D

(A)
(B)
(C)
(D)

D W R

8

129. ﬁqmﬁma@rm%%ﬁ

A9 37 B-
(A) IXIXIX
(B) CMXCIX
(C) CMIXIX
(D) CMIC
130. & T 3mpfd § feeam wwftg e
&7

(A) 0
(B) 1

(C) 2

(D) T q B el

Du23

[37]

(D]

128. How many faces does this solid
have?

(A) 1

(B) 3

(C) 4
(D)

>4

129. Roman numeral for the greatest
three digit number is-

(A) IXIXIX (B) CMXCIX

\J/(,G)' CMIXIX (D) CMIC

RES

130. How many lines of symmetry

does the given figure have?

(C) 2

(D) None of these
P.T.O.




131.

132.

5 TR &1 A 20 g1 afe uh

i B g fora e A Ay <
BT T 23 B ST &, Rrepred 78 |

TR B
(A) 4

| (B) 92
(C) 100

(D) 8

T, I | IR AT 987 8| Ui af

UES @], W N AT AT ST AT

“ (A) 109§ (B) 423&1 \
(C) 409y (D) 28 aY

1133.

134.

DU23

o T 3, 80 Ry & Ty
TRE R, S AT ST H 6 G

T T X W ¥ P ¥ sk 4
HE 3 TR 3T et ST &1 ey
B T T &7 &

(A) 32 f&ar /e, (B) 48 el /g,

(C) 60 fHi./d. (D) s0 Rl 6.

Y Tt 3: 4 35 37T 3 & 3R 3
o1.99.9. 3iR 9.9, 9. &I JUFwer 10800
2| Grem3it &1 AN S Hifee|

(A) 190 (B) 70

(C) 210 (D) 30

[38]

131.

132.

133.

D

The mean of 5 numbers is 20. If

one number is excluded, mean of
the remaing number becomes 23,
then the excluded number is-
(A) 4 (B) 92

(C) 100 ',/(D-) 8

Karan is four times as old as Ram.

Five years ago Karan was seven

times as old as Ram. Find the

present age of Karan -

- (A) 10 years (B) 42 years

6}){‘40years (D) 28 years

A passenger train, running até
speed of 80 km/hour, leaves
_railway station 6 hour after a
gdods tljéin_ leaves and overtakes

it in 4 hour. What is the speed of

“the goods train?

(A) 32 km/h (B) 48 km/h

(C) 60 km/h (D) 50 km/h

134. Two numbers are in the ratio 3:4

U210

and the product of their LCM and

HCF is 10800. Find the sum of

the numbers. = |
(A) 190 (B) 70
(D) 30



135 'iﬁ' "‘“( m’wu:, ‘jﬂ(:ULf value Cif X

‘ ) 8-
BA) 1 (B)
(©) 3 (D)

(AL By 2
(@i (0)

12 W K2 1'5 AleamN @5@@ 136. A'work'is done by 12 men or 15
20 ﬁﬁﬁﬁwﬁm%l 41 uem@ " | Wwomen,in 20 days. What is the

mwaﬂw

'L‘

(©) 30 days. (D)

(C) 301%7'[ 40 1}1‘“‘_@

: L 137." Eindthe value'-
137. HH §dU-

; 3+[(8-5)+

"-_;"'f"(A') 13/

, ‘f_,:_(’C) 68




139.

140.

et 3 fiftm 3 & W 4 3P
TR ) ST iR TR BieY 6-3701
TR HT AN $1A DITE

(A) 109999 (B) 109989
(C) 110020 (D) 1000989

TR S 178 Y 85 51 R
1A 2 3R 2 oReE FH1 3N 3 5%

ST 1 178 T 3 e Iaw! st

TT 87
(A) 3¢ (B) 31
© 39 (D) 37

1112 3 .
2353 @O Zmaﬂﬂaaarst{-
1
2

o+

(B)

(&) 5 (D)

Ul

142. dfE x:y=3:5, g6 3FUW 3x-+4y:

8x+5y T BITSTE-
(A) 39:49  (B) 29:50
(C) 29:49 (D) 39:50

DU23

139. Find the sum of 4-digit greatest

number and 6-digit smallest
number, each having three
different digits.

_(A)-109999  (B) 109989
(C) 110020 (D) 1000989

140. Suryakumar in his 17th inning

makes a score of 85 and thereby
increases his average by 3 What

is his average after the 17th

inning?
(A) 34 (B) 31
C) 39 D) 37
(©) (D)
. . 1112
141. Find t:e average of 2'3'2'3
vand Z -
e 1. 1
y(A) > (B) 3
5 .1
(©) 3 (D) 5

-

142, If x:y=3:5, find the ratio 3x+4Y:

8x+5y-
(A) 39:49 (B) 29:50
[(6y29:49 (D) 39:50

[40]



D.

25'/1 x 64'/2)( 36‘/2
9% « 4

27713 (27173 = 277134 s
( , 3. Flnd the value of

e 27-1/3 (271/3 u 272/3)+ 25','l )(A64"/z X 36‘/‘l 3
9% x J4

&l HIF 15T -

(A) 38 o -
T (A) 38 P
\ ¢ »ib

. Ee
(B) 42 8 5 42~ O’A\”’
o e »"?{ ""’?’JZ“
(C) 10 o e (C) 10 g

OES Q”k

fu

Lo B

(D) 1

™ g -

144. Wa—ﬂ‘e’mﬁq‘ iLC2 '14~4* Average of flrst ten prime ;
(A) 10 1 (B) ‘ SE | numbers is- - .

(A) 101 7 (B) 12.8

(C) 10 '- '\_/D)/129

‘-‘..

(5) 10 e




147. 11 Yeoit @1 Aed 50 @ afe w6
Yaroit ot Ared 49 & 3iiR sifer 6 el
@1 wred 52 @ A BT Vi gnm-
(A) 55 (B) 56
(C) 57 (D) 58

148. o fufeamer # @@= 3k B &)

e 575 R frt dr 200 stk ol |

&R i o 580 €1 fafgamr # fsey o
(A) 100
(C) 110

(B) 180 b

149. U5 TG B BT H TR & R
10% B FANTT gfg B T G: T
B RIS DI W B b fore aey

q?

(A) 17.64%
(B) 17.36%
(C) 16.36%

(D) F7H 4 B A&

150. feiRaa Tist o TReligd 7 8-

1 1 1 1
~ + - F e
J100 - 95 ~ g5 - Y98 98 -4/97 Jo7 - Jog

1 1
N T R

(A) 9 (B) 10

(C) 11 (D) 101

pu23

(D) 120 olf

g o ¥ e wfoga S s

D]

147. Mean of 11 observations is 50, |
~ mean of first six observations is
49 and that of last gjy

observations is 52, then the sixtp,
obervation will be-

(A) 55 \_(B) 56
(C) 57 (D) 58

. 148. In a zoo, there are rabbits angd
! pigeons. If their heads are

I counted, there are 200 and if legs

are courited, there are 580. How

""\)/ $
’ many pigeons are there in z00?
(A) 100 (B) 180
- (C) 110 (D) 120 -

149. The price of an article was
increased two times successively
by 10% each time. By what
percent should be the new price
be reduced so as to restore the
original price?
(A) 17.64%
W(B) 17.36%

(C) 16.36%

(D) None of these

150. Simplified value of the followind
.expression will be-

1 - 1 1 1
V10095 V59 -V98 ' J38 Yo7 Yo7 -5
, 1 1
, - AR R
(A) 9 (B) 10




---_-ﬁmmﬁmﬁsﬁamﬁmmw
fosar 5 Hopar &-
(A) mﬁﬁmﬁizﬁa?rgv’fsr%wﬁm
JHad axe
(B) mmmmm
IRD
(C) UIsT
T P Fq H WO aRb
(D) %s‘msnaaammﬁaaha%r

e

(B) uﬁagﬁ?é‘rasfémﬁ SRl

Blghdnis
(C) -‘;‘x S HEr:

Eb’rgm?n%‘l ,
(D) aﬁaﬁgﬁﬁﬁ SCATE e DT

Waﬁ@ﬁas,g@'

151.

school can. be create |
LAY Ensr

"-‘...f f‘r:» @@ﬂ@@ étr D@@m u‘r

: ;i-lﬁy@f[iiii@m}
If he recites a poem. | .'":7""
Ifhe @1&@%&‘@&@1\@@&?
book:

#lffhe makes a:picture by

observingtit from: the bo

Statement 1- There are man
factors ‘affecting {l_.'.ﬁ-,n‘m g Cfr o
student.

Statement 2- Age and maturity

11537

are "10(- ""D ﬂf_’lh i1f&\!xhl~3‘f aculﬂg\
“;FVT"('““,Q :

Bothithe :hﬁ1§.ﬁ?4‘{lﬁl« are
IS
statement 1 s true and
AteMme hs i‘~-‘ ‘L\-

J—H‘J':‘,} the sta

<



154. F=feRaa ¥ Q ol ) Rreor aiferm
s ot gReanRie Ryl & fre
3
(A) Siffda gy
(B) 80Tl
(C) @St fiic §®
(D) SREAHT
155. 31T & 09T H T Aecaqul $iera,
(A) TMUg R ferem
(B) 3iifea 20 &f yamm
(C) &1 U9 TR Srefid &1 3wam
(D) ™ |

156.

ST 8-

(A) wamm

(B) ZNEIUoiaT

(C) el &el Tt
(D) IWRHAN

B 1 T IBR F FAfera -

(A) EdnT- R i ey
& B &

(B) 3raciidb- W & ZEER @
e < &l

(C) oY THIEH- T9-FR & iy
HHAT

(D) TG - FRieres i

157.

DU23

Fwferiem ¥ 3 o sama §
i < el B e foan

N

]

154. Which of the following is Noy ,
teaching learning aid for a Student
with total blindness-

(A) 'Audio Books
(B) Brailleslate
_(€) Large Print Book
(D) Tactile Maps

155. The most important skill required
to the teacher in the present time
is - |
(A) Writing on the black board
(B) Use of Audio tapes

k€Y Use of Information and
communication technology
(D) Lecture

156. Which of the following activities
are encouraged in a constructivist
classroom-

(A) Experimentation

(B) Research Projects

(C) Classroom discussions

(DY All of the above
Vg |

157. Which one is correctly matched-
(A) Collaboration Learners
work individually
. (B) Observation - making no*
= i imals
of behaviours of anima
(C) Problem solving - co?!
question and answer y
(D) Constructivism - Teac"
centric

[44]



158, S & I Rt o fre s | dssiSWhattype of a |

ik ;iif;'ﬁamﬁﬁmma%rnﬁﬁﬁxm Al m;j“i"ﬁ;fgc :dnts-; . |

I:j( %ﬁ%‘ﬂﬁm%a:r 19161
oo & k-

(B) %wt?ﬁ‘r

(C) X 3t ¥ .Eﬁﬁr;f:;' B

LSRR (D) Explain L"I; @gm{m@x (;[u
lecture mmi '

B e M 159 What'is the RJL @f @:E@m i
HHD & |5 <P
: o |74 present time—
UA) Facilitator:
((B)Social‘worker
Spealker

(@) Speaker
(B); None of the above

W i1 LOUthere is a child with k‘{@liclﬂtln@-(a

{in YOUr ((”’ ‘L‘\“\ l!]L-\] \vl‘lt-‘\ \5\}” \'(z]\u.

Nuiti-sensory'approach




161. P 3o faeell @ 3R war 7 g
T ¥ sregae &9 & e H
Nenfea fosar s Tadr &2
(A) e wmet gr
(B) wAdsia el gR
(C) 3Rnaat & wel gRY

(D) BIF 99 gRI

162. U e 8 & TR 3 fenffat 3
SR 1 0T 9 ferpra i
() 5 Pt 2
(B) 3% Tecwr & e ¥ P
() % foeera ¥ P ¢
(0) 7 P 1 et e

PP T, SR ——

(A) FT

D]

161. How can a failed student pe
encouraged to study sincerely in

the same class?

(AY by teacher's counselling
(B) by psychological counéelling
(C) by guardian's counselling

- (D) by Student's Association

162. How will you develop the quality

of discihline among the students
as a teacher?
, \}A‘)/B,y offering  them
~ responsibilities
(B) By giving them knowledge -
.about rules of conduct
(C) By banishing them from
| .school

(D) By making them follow the
rules

163. The stud.ents learn best by-
(A) listening
(B) reading

d,e)" doing

(D) seeing

[46]



- 164. zx% ﬁr&ﬁs B & GoHIHAD forwa . If a teacher wishes to enhance the
as‘r T TTedT & a 3@ SRS B creative thinking of the students,
 Pfvad BT TR

(A) INRRY fige ) .

(B) TR e R | .y (B) bivergentthinking
(C) ai (A) 3R (B) i (€)! Both (A).and (B)

(D) T I P13 & ’ (D) None of these

he/she should focus more on-

(A) Convergent thinking s

110G 165 Which -is:the best language

learning principle that a teacner

T H %51_%113 BRI, DI HINT ARG
& fba Rigr<t & SHHIHIEIEER
A) TSGR icteeee
o SW E (/A): "Association
(B) . : H? | ,q’;)‘) ‘jﬂﬁiﬂiﬂa‘@l;

(@) Reinforcement

should ‘follow to develop the

language of beginners?

(©) T

(D) 'a' ,',‘i

.
i

l ~ (DY All.of these
:
|

i 1 Cce (V= \ ‘
I amR e [ 166 Main types of teaching aids are-
"




167. Fr=fifad ¥ ¥ Rraror o Pwar sl
-é’ré‘?
(A) Tre701 v Sifee wmfore ufssar
2l |
(B) Rmamr ves amawifie wfafafs
gl
(C) ﬁwwuasm%m%ﬂ
(D) IRIH T '

168.. remor & FrmforRaa srawemsi #

(W) W B
(B) sr=rfisan srawen
(C) FR-fpar sma=en
(D) &7 & BT et
169. mﬁmvrﬁﬁkm%‘
(A) e & eRiRS Tamr «)
(B) foreis & vy
(C) f%raﬁ%saqu'
(D)I f21e1 & TaER ux

DU23

[48]

167. Which of the following jg
characteristic of teaching?

(A) Teaching is a complex social

process.

(B) Teaching is a professional

activity.

(C) Teaching is an interactive

process.

\/(,')"//:\II of the above.

168. Which of the following phases of

~ teaching is the 'Evaluation stage'?

«».-:(A) -Pre active phase
~ (B) Interactive phase

"
_ \/(,G’) Post active phase

(D) None of these

169. Effective teaching depends on-

- (A) physical built of the teacher
(B) dressing sense of the
teacher |
\/(G) knowledge of the teacher

(D) ‘behaviour of the teacher



.,170 uﬁuasmaasmﬁﬁm'@rméaﬁ
e -
(A) I TR foyeprer &7 anfewl
(B) 3 TR g &1 ACLGI
Waﬁﬁﬁlﬁ T Sieel
() U;w.r:.m
Tnige|
(D) I T et -‘-:rfir{téﬂﬁ?ifr
¥ araEr a1 el

e arg e a8 il
(A) DET a%r 3| q[ HT A4

S 8 S

FOI )[4 H

N

|

Wt a ‘iri_LUnLr Lsﬂm(:& lﬁu@ to iélL

class, the teacher should=

(A) turn him out

(B)' punish him‘severely and
report the matter to the

head:

(G)! mark him“absent for a
number of days:

(P)¢ treat him with'sympathy:and

| understanding-

((/;,\?_;. can.c ontrolithe class

(B can charge his students to

work with thonesty and
hardwork:

(€) ‘can'develop'the spirit in his
ggu(af- nts to i TE\:\_

(D) canientertain his'class

1o bring improvementin teaching,

a teacher should- :

(A) ‘take strict action ‘on
::;:{au‘rik'.aa‘f s mistake! -

(B) 'act against th ,aﬂmvz of

ect his/her = own




173, %ﬁr&mﬁmﬁmﬁﬁﬁﬂm \

YT Tfge?

(A) frad TaeR

(B) WM TGER

(C) RHTT GER.
(D) M= zEER

174, %Wﬁmww%mm%?
) SR |
(B) a‘qui
(C) =R ®
(D) mﬂﬂfh

175.

(A) ﬁrm&ﬁ%qmmﬁmw.,

(B) 3ifiuEad )
(C) Bl )

(D) HHeTT |

DU23

"qmmr&rﬁmmq“ra%‘rmm |

[50]

N

- 173. How should a teacher behave witp

all the students?

(A) behave like a friend
(B) behave equally
(C) behave personally

(D) behave in a selfless manner

174. Teaching is done at which level?

(A) Memory Level
(B) Understanding Level
(C) Reflective Level

‘ \/('Df)/ All of the above

175. Success or failure of co-curricular
activities mostly depends on-
| \}A')' attitude and enthusiasm 0_f
teachers .
(B) guardians
- (C) - students

(D) - community



2 aé’f‘s“?— X

176, PR 3 ey ) e

(A) vﬁwuaw%m%‘ SRS il

- (B) Hﬁﬁww
@ T& 8l

R{ G |

]
1
i

(C) vt & errReaT < o [T INEs

r=J

el

=N N N
S11/ToTH -

AU

;.“(: 3{_,1 :_z_” W

Ly

2R WNGEERET o\

Read eIl &l

1764\

178, ¢

Which
characteristic Mfitééiﬁll?@lf
(A) l“-tlnmila(.' isia‘process, not a

o i B is mr 3

product.
Allilearninglisinot purposeful

andigoalioriented.
The scope ofilearningis too

wide'to explainiiniwords.

(D) None ofithese

Schooliis a‘sociallagency which-
raising' of
\V/ ] (O ad ‘F{ML'HC‘I :

)it contributes to the rc

the 'soci
standard:
(B)iconservesiand transmits
peopie
(C) has’ " ertain l@f {?l@@;{_‘@@d{ '
endowments. i
(D)% isolates the 'good ;r«:m L:ggg

he o fr”mwmu mﬁﬂtﬁgpj A
h‘imﬂ- a Ji’:z“dT-{r iS= :
(A) “To/maintain !::H*(]Mﬂ‘h{.. n \ju(““

8| \‘: SSI( J[JH

Make:students'do their

omewor
Irepare aLestion "f’?ls‘@:
mal eaching: learning
[o) Die
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180.

181.

(A) QM H

(B) G A

(C) TST T JNT R H

(D) amﬁiiaﬁaxaﬂqth&R%ii

ﬁmmﬁ=§¥%ﬁﬁa%ramassh¥%@# ‘

et ot srTeRi e @ e
oo &= | |
(A) Gﬁﬁaﬁ§€@ﬁ%

(B) Rrenffali &t rawer

(C)»ﬁﬁmEQ$?m#mﬁﬁﬂ9ﬂﬁﬁ3miﬂ

(D) 3RI6 T

T2remelt & e o1 wenfaa o<y arey

Faftvs BRe B A

(A)fﬁﬁmsanﬁhavnarﬁﬁaﬂ

(B) Rers g1 s fmar
A e

(C) 3T, TR v e

(D) e P T ey

pU23
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L

(D) Communication skil

179. A good communicator needs t,

be good at-

(A) speaking

(B) listening

__(€) the use of language

(D) the use of humour in speech

180. Teacher related factors that

influence learners academic

achievement are-

(A) Acceptance of students

(B) Caring for learners

(C) Effective use of instructional

techniques

\}DyfAHoftheabove

‘ 181_. What are the persohal factors

that affect the learning of

students?

- (A) Teaching style of teacher

(B) TLM used by the teacher
(C) Self concept, interest and
aptitude
. | of the

teacher
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183.

184,

DuU23

T ¥ FgfRe AT ol & A gt aref
dfsas- |

(A) Ffemmg

(B) 3HidRe w0 ¥ ifmiRa &

(C) frerd Rt ST TaT T ISP
(D) ¥ v7 ¥ IPRa &
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Y IS 30 B 971 a¥IPT B
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(B) Tmﬁqaﬁm‘@r*

i
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(C) wnﬁwwwmm |
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35| ¢

Faaera 3 AR TRl 3 ey
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183. Which of the following method is

D)

182. Ifa child gets internal satisfaction
from self study, it means he is-
(A) Intelligent
_(BY Intrincically motivated
(C) Want to complete his-
chapter as said by the

teacher

(D) Extrincically motivated

the best for motor Iearhers ~
- «(A) To show a comprehensive
summary of the chapter on

' black board.
'(B) Teach him through audio
tapes ¥ .
\,(,e‘)/Give him‘activities to do.
' (D) Use of audio-visual material

for teaching.

'184. The objectives for conducting

Physical activities in school should
be -

. (A) physical fitness of students

(B) to develop team spirit in
students

(C) to develop self-discipline in
students

\JSP) Al of the above

P.T.O.



185, BefiRa i & @ v fereniiar

HRAT &7
(A) HRA P AT W §g----PT |
(B) rcfUar fordt dad 87

(C) W%v@aq&gﬂwml

(D) Wdfeid 3MER fRd a%?r. 8?

3aTeR0T cifste|
186.

mﬁﬁm ‘@n?r?
(A) I Td AeH

(B) T&H™ &
(C) i UeT

(D) s’%ﬁ?ﬁn@am

187. ﬁumwmﬁamﬁgw
froarg-

(A) mqsmﬁaﬁmw

(B) e wivea Riameme

(C) am%%auanﬁﬁﬁxanmﬁa
forerems

(D) e Senfa Rre gmer

pu23
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18~5. Which of the following question
best evaluates the understanding

of students?

(A) -India got independence on--

(B) Whois called as father of the
nation?
\ - (C) Name the natiohal animal of
B Ihdia.
- ‘\‘_QD-)’/'\'Nhat is a balanced diet? Give

example.

186. Which of the following activities

will help in the development of

emotional skills in students?
- &')/Danc'e and Drama

(B) Doing homework

(C) Reading a poem™

(D) Playing indoor games

187. The salient feature of School
Based Assessment is-
(A): Lecture based pédagogy
(B) Teacher centred pedagodY-
\&G’)/ Child centred and activity
~based pedagogy
(D) Pedagc;gy based - °"

textbooks



188. Tl & WA & THIRAT BT arer

(1) fremor ffr

(2) oy

(3) a9

- (4) uYBM

(A) 1,2,3

(B) 1,2,3,4

(C) 2,3, 4

(D) 1,2, 4

189. maaha?r%@mm%‘
(A) :ﬁ%as%mﬁmrsmﬁ
(B) asi%mmmasrgaq
(C) @t (A) & (B) '

(D) mﬁﬁaﬁéﬁ

190. a%em%r&aasémﬁmﬁmﬁ
qzﬁguﬁarfﬁu}asmﬂaﬂm
T & o PreafoRe § &
<t faféy werdy aiftres suges anfe
(A) e faftr
(B) wwTsifafer fafer
(C) sracie faftr
(6) aa-a'\ra's"r%&r

DU23

|

D

188. The factors affecting the learning .

of students afe—

(1) Teachi.ng Method

(2) Interest:

(3) Stress

(4) Fatigue

(A) 1,2,3
L(B) 1,2,3,4

(C) 2,3,4

(D) 1,2,4

189. The characteristic of creative
. children is -
(A) Expression of original
thoughts '

, (B) Creation of poem or story
_(€) Both (A) and (B) '
(D) vNone of the above

190. | If as a teacher you want to Study
the behaviour of sfudehts
| studylng in the classroom ‘then
Wthh of the followmg method will
be most appropriate? -
(A) Interview methog
(B) Sociometric: rﬁethod
\/(,(})’ﬁbservation‘ method
(D) Case study method

P.T.O.
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192, St_atement

|

191. Cooperative learning environmentsg

can be effectively created by-

(1) formihg small mixed ability
group of learners,

'(2) giving individual tasks to

students

(3) giving group activities tg
~ students.

(A) Only 2

(B) 18&2

(©) 283

(b) 1 &'3

A positive
classroom environment enhances
‘academic achievement and helps
to promote  appropriate
classroom behaviour in students.
Explanation : By promoting
healthy relationships and values
ambng all students, a positive
learning environment can be
“created.
\Lk)/"éoth' statement and
- explanation are correct.
(B) Both
explanation are incorrect:
(C) Statement is correct and
| explanation is incorrect:
(D) Statement is incorrect "

statement and

explanation is correct.

>
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D]
193. Which of the following things
should be kept in mind for
~ designing Co-curricular activities
- for students?
(1) activities should be age
appropriate.
(2) it should focus on only
psychosoual development.
(3) it should be according to the
4 interest of students.
(A) 1&2
(B) 1,2&3
(C) 2&3
By 1&3

194.  Which of the following option is
" related to constructivism-
A \,(Aj//knowledgg is not passively
- received but actively built.
“(B) Learning is seen as a passwe
process.

(C) Itisteacher centric approach.
(D) None of the above

195. What is motivation?
’ ) A need or desire that
- energises and directs
behaviour.

(B) Tendency to respond to a
new problem/ situation in the
manner used for a previous

~ one,

(C) The ability to deal effectively

~ With novel situations.

(D) It refers to unique set of
individual's thought.

P.T.O.
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196. The mental activities aSSOCiateq

with the processes of Knowing
and experiencing such as thought,
perception, attention, problem
solving etc. are related to-
(A "Cogr‘\itivé processes

(B) Social processes

- (O Biological processes

(D) Emotional processes

197. If a teacher gives value to himself

then this means he has high-

~ (A) Self concept

| v(B) Self esteem

(C) Selfimage

(D) Self identity

198. Ifa student has a specific capacity

to do a task well, it means he ha?

"an' for that.

(A) Attitude
- (B) A.warenvess
Mﬁcﬁ Aptitude

- (D) Interest



19

Noteshg.Com ' ' T J @
199. ey fBremr & aRke %ﬁﬁf W 199. - During classroom teaching which
" of the following things should be

SN given more importance-
1) T® q%wﬁlﬁr‘\gﬁ%aﬁ .
( ) (1) to ensure participation of
. b f. 0 each student
(2) dulps REar®rgwsqT 4 (2) to understand individual
(3) act i faenfid & srgeu o, v Eiigrences |
' EE - (3) to develop lesson plan
U6 ST &1
| _ » - : according to brilliant students
(4) Rt o e o hr -
SIIR T T g =S _ (4) to teach according to the
(A) 1,2, 3 3 - 3, . " - pace of learning of students
(8) 2,34 (A) 1,23
oB) 2, 3,.4°
(C) 1,3, 4
(C) 1,3,4

Oy 1,24 ot o T w24

200. ﬁ—z:[%ﬁgaﬁ-\qaﬂ:[-@fa\ﬁa;ﬁmm$ | 200. Which of the fbllowing are the

UTH &- = « | 'Compone_n.ts | of moral
| | | | dev'elvopment- |
(A). Hﬁraﬁ?naaasqwmm | ~ (A) to distinguish bef‘\/veen right
© wam ey | wdwes
— ' | (B) to put oneself .in others
: . . position
() aaqa%a‘mq%wﬁﬁaﬁ%a‘r . '(C)' to help others when they are
P! HeE AT | ~introuble |
(D) IRH T ' \ADP)" All of the above

bu2z _ ‘ [59] 'P.T.O.
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